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Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of "TRAGIC." 
 

A. Delightful B. Happy 

C. Dreadful D. Fortunate 
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Q7. __________ is the antonym of "ENTER." 
 

A. Arrive B. Access 

C. Insert D. Exit 

 

Q8. Identify the meaning of the idiom "kill two birds with one stone." 
 

A. Prefer to do a hard job before an easy job B. Accomplish two things at the same time using 

just one action 

C. Be unwilling to complete an unpleasant job D. Avoid an accident very narrowly 

 

Q9. The sentence has an incorrect phrase, which is in bold and underlined. Select the option that 
is the correct phrase to be replaced so that the statement is grammatically correct. 
 
"Did you cooked my favourite item for dinner? 

 

A. cooking B. cook 

C. cooks D. cooker 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I had my hair straightened and _____ (style) at the new beauty parlour. 

 

A. styled B. styling 

C. styles D. has styled 

 

Q11. Which among the Vedas was third in order? 
 

A. Samaveda B. Atharvaveda 

C. Yajurveda D. Rigveda 

Q11. =O.K /O @O ्䵅/=?1I /O -?@1? =O. �L0@? AP? 
 

A. @?/=O. B. 
-===O. 

C. 0�I=े. D. �_=O. 
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Q12. As on January 2020, who is the Chief Justice of India? 
 

A. Dhananjay Y Chandrachud B. Sharad Arvind Bobde 

C. Ranjan Gogoi D. Dipak Misra 

Q12. �0=1I 2020 �K, .?1? �O  /J_0 m0?0?/I> �L0 Aै䠂? 
 

A. /0��0 =?0 ����ू! B. >1. 
1==�. -K-!O 

C. 1?�0 �K�K� D. .I+� //्䵦? 
 

Q13. How many countries does India share its boundaries with? 
 

A. 5 B. 6 

C. 7 D. 8 

Q13. .?1? �ी @I/? -�?0O .O>K @O �J!I Aु� AP? 
 

A. 5 B. 6 

C. 7 D. 8 

 

Q14. What is the total number of articles present in the Indian Constitution? 
 

A. 439 B. 448 

C. 455 D. 395 

Q14. .?1?I0 @�-=/?0 /O /L�J. /?1?� � �ी �J ल @�_0? -�?0I AP? 
 

A. 439 B. 448 

C. 455 D. 395 

 

Q15. Who among the following elect the Vice President of India? 
 

A. Elected Chief ministers of India B. Elected Governors of India 

C. Elected and nominated members of both Rajya 

Sabha and Lok Sabha 

D. Elected members of State Legislative 

Assemblies 
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Q15. -0म⹍0 /O @O �L0 .?1? �O  �+ 1?�र+-? �J0?O AP? 
 

A. .?1, �O  �I0O AIए /I_0 /�}I B. .?1, �O  �I0O AIए 1?जᱍ0+?ल 

C. 1?जᱍ0 @.? �1 लK� @.? .K0ो䬂 �O  �I0O �ए �1 0?/)0}.=�� 
@.}0 

D. 1?जᱍ0 ==/?0 @.? �O  �I0O AIए @.}0 

 

Q16. In which of the following places were coins dating back to the Gupta period found? 
 

A. Pinjore B. Mitathal 

C. Chandigarh D. Rohtak 

Q16. �J्䵎 �?लI0 /JA1O -0म⹍0 /O @O �L0@I ��A /O -/लI -I? 
 

A. =+m�K1 B. //,?Aल 

C. ��.I�! D. 1KA,� 

 

Q17. ______ has great importance with respect to the origin of the Vaisya community in India. 
 

A. Pinjore B. Mitathal 

C. Agroha D. Rohtak 

Q17. .?1? /O =P�0 @/J.?0 �O  ��/ @�..भ /O _________ �? -!? /Am= AP| 
 

A. =+m�K1 B. //,?-ल 

C. 
्䵇KA D. 1KA,� 

 

Q18. The Haryana Forest department has set a target to bring ______ % of Haryana under forest 
and tree cover. 

 

A. 5 B. 50 

C. 10 D. 20 

Q18. Aर10?+? ,L1O}� -!+?�भ/O� (Aर10?+? =0 -=.?�) �? लቌ䲚0 AP -� ______ % Aर10?+? .K-/ ���ल �1 +O!K @O .1 .O| 
 

A. 5 B. 50 

C. 10 D. 20 
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Q19. Which of the following districts is home to a national park in Haryana? 
 

A. Panchkula B. Gurgaon 

C. Jhajhar D. Pinjore 

Q19. Aर10?+? /O 1?�रI0 �p?0 -0म⹍0 /O @O �L0@O -�लO /O -}-? AP? 
 

A. +���I ल? B. �I!�??= 

C. �?जᱍ�1 D. =+m�K1 
 

Q20. _____ is being developed as digital village in Jhajjar district. 
 

A. Babra B. Bajitpur 

C. Sankhol D. Aurangpur 

Q20. �जᱍ�1 -�लO /O _________ �? -=�?@ -!�I�ल �??= �O  y+ /O -�0? �? 1A? AP| 
 

A. -?-1? B. -?��,+1ू 

C. @��Kल D. �1m�+1ू 
 

Q21. _______ from Haryana won the Miss Glamor Look International Ambassador award in 
2019. 

 

A. Pooja Rani B. Ritu Devi 

C. Pooja Lakhina D. Ritu Lakhina 

Q21. 2019 /O -/@ _लP/1 लJ� �m�10P>0ल एम⹍-O@O!1 +J1}�?1 Aर10?+? �ी __________ �K -/ल?| 
 

A. +�ू? 1?0I B. 91,I .O=I 

C. +�ू? ल��0? D. 91,I ल��0? 
 

Q22. _______ is the election symbol of the newly formed JJP party. 
 

A. Key B. Pressure Cooker 

C. Broom D. Light bulb 
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Q22. 0� }-?-+? JJP +्䵌 �? �J0?= -�mA _________AP| 
 

A. �?-I B. �>1 �I �1 

C. �?!ू D. ल?�� -ल㉍- 

 

Q23. Which district in Haryana has been chosen to establish an Aerospace university? 
 

A. Pinjore B. Hisar 

C. Jhajjar D. Gurgaon 

Q23. ए1K}+O@ 0J-0=-@भ�I �}-?-+? �10O �O  -लए Aर10?+? �O  �L0@O -�लO �K �J0? �0? AP? 
 

A. =+m�K1 B. }A@?1 

C. �?जᱍ�1 D. �I!�??= 

 

Q24. _____ is the Padma Bhushan awardee who is actively involved in a project to revive river 
Saraswati. 

 

A. Pooja Rani B. Bhupendra Singh 

C. Darshan Lal Jain D. Chaudhary Charan Singh 

Q24. +o .K?+ +J1}�?1 �?्䵎 ____________ 0O @1}=?I 0.I +J0�I=0 ��ल㉍+ /O @-्䵅0?? @O >?-/ल AP| 
 

A. +�ू? 1?0I B. .+ूOm� /@�� 

C. .>=0 ल?ल �P0 D. �L/1I �1+ /@�� 

 

Q25. Who is considered to be the first person to lay the foundation of Saang, a folk style 
theatre? 

 

A. Kishan Lal Bhaat B. Deep Chand Bahman 

C. Kavi Shankar Das D. Preethi Lakhmi Chand 

Q25. लK� >PलI 1��/�� @?�� �ी -J-00?. 1�0O=?लO +AलO }0-ि �O  y+ /O -�@O �?0? �??? AP? 
 

A. ��>0ल?ल .?� B. .I+ ��. -?A/0 

C. �=I >��1 .?@ D. =�,I ल�/I ��. 
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Q26. What award has Surendar Sharma received for his work on Haryanvi Comic poetry ? 
 

A. Padma Vibhushan B. Padma Shri 

C. Padma Bhushan D. Bharat Ratna 

Q26. Aर10?+=I A?}0 �-=?? �O  -लए @J1Om.1 >/?भ�I �K �L0@? +J1}�?1 -/ल?? 
 

A. +द♍/ ==.?ू+ B. +द♍/ ्䵦I 

C. +द♍/ .?ू+ D. .?1, 1त⑍0 

 

Q27. Which court poet of King PrithviRaj Chauhan wrote Pritvi Raj Raso ? 
 

A. Kavi Maldev B. Surdas 

C. Chand Bardai D. Narottamdas 

Q27. 1?�? +Lm=I1?� �LA?0 �O  .1-?1I �=I �L0@O -O -�mAK0O +Lm=I 1?� 1?@K �ी 1�0? �ी? 
 

A. �=I /?ल.O= B. @1ू.?@ 

C. �?�. -?1.?� D. 01K्䵈/.?@ 

 

Q28. Haryana became the first state in the country for providing _____________ to all the 
villages. 

 

A. full literacy B. bio-gas 

C. electricity D. water 

Q28. @.I �??=K �K _______ �.?0 �10O �O  /?/लO /O Aर10?+? .O> �? +Aल? 1?जᱍ0 -0?| 
 

A. ++ू= @?�1,? B. -?0K�P@ 

C. -I�लI D. +?0I 
 

Q29. Who was the first woman advocate and also the first woman in Haryana to be elected as a 
Member of the Legislative Assembly in 1954? 

 

A. Chandravati Sheoran B. Shanno Devi 

C. Renu Bala D. Prasanna Devi 
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Q29. +-AलI /-Aल? =-�ल �1 1954 /O -=/?0 @.? �O  @.}0 �O  ?L1 +1 �J0I �?0O=?लI Aर10?+? �ी .I +-AलI /-Aल? �L0 -I? 
 

A. �m�?=,I >O1K0 B. >m0K .O=I 

C. 1O+ू -?ल? D. �@m0? .O=I 
 

Q30. Karnal is called Dhan Ka Katora for the production of ___________. 
 

A. Wheat B. Basmati Rice 

C. Rice D. Barley 

Q30. �10?ल �K __________ �O  �m+?.0 �O  -लए /0 �? ��K1? �A? �??? AP। 
 

A. �OAू? B. -?@/,I �?=ल 

C. �?=ल D. -?ली 
 

Q31. Which of the following scriptures contains references to rivers flowing in Haryana? 
 

A. Vamana Purana B. Sutta Pitaka 

C. Visuddhimagga D. Vinaya Pitaka 

Q31. -0म⹍0 /O @O �L0@O >?ኚ验 /O Aर10?+? �ी -A?I 0.I0K �? @�..भ �?? AP? 
 

A. =?/0 +I1?+ B. @I्䵈 =+,� 

C. ==>Iद♍/I/_�? D. ==00 =+,� 

 

Q32. The highest peak, Karoh peak falls under the geographical region of ___ hill range in 
Haryana. 

 

A. Junagadh B. Morni 

C. Girnar D. Dima 

Q32. @=Kचᩍ� �K�I �?1KA, Aर10?+? �O  __________ +A?-!0K �O  .L�K-ल� ्䵌O्䵔 /O �?I AP| 
 

A. �I0?�! B. /K10I 

C. ��10?1 D. }./? 
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Q33. The seasonal river Ghaggar enters Haryana at __________. 
 

A. Pinjore B. Hissar 

C. Karnal D. Sonipat 

Q33. /L@/I 0.I  _�1 Aर10?+? /O ___________ @O �=O> �1?I AP| 
 

A. =+m�K1 B. }A@?1 

C. �0?=ल D. @K)0+, 

 

Q34. What is the approximate area of the largest district Sirsa in Haryana? 
 

A. 4672 square kms B. 4762 square kms 

C. 2467 square kms D. 4277 square kms 

Q34. Aर10?+? �O  @-@O -!O -�लO -@1@? �? ्䵌O्䵔 ल�.� -�?0? AP? 
 

A. 4672 square kms B. 4762 square kms 

C. 2467 square kms D. 4277 square kms 

 

Q35. Ashok Bhatia has received the first Haryana Sahitya Academy award for the book 
________. 

 

A. Jungle mein Aadmi B. Hariyana se JaanPehchan 

C. Sukhe me yatra D. Samudra ka Sansar 

Q35. 
>K� .?-�0?�I �K +Aल? Aर10?+? @?-Am0 
�?./I +J1}�?1 __________ �@ +J}?� �O  -लए �?्䵎 Aु� -?| 
 

A. ���ल /े䜂 �./I B. A910?+? @O �?0+A�?0 

C. @I�O /े䜂 0?}? D. @/I� �? @�@?1 
 

Q36. Laptops and Desktops are examples of _______computers. 
 

A. Super computer B. Mainframe computer 

C. Miniframe computer D. Micro computer 
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Q36. लP+�Lप⩍@ �1 !O}��Lप⩍@ _____________ �म⹍प⩍0J�@भ �O  �.?A1+ AP| 
 

A. @I+1 �्䵘M0I�1 B. /O0�O / �्䵘M0I�1 

C. /O0�O / �्䵘M0I�1 D. /?0्䵅K �्䵘M0I�1 
 

Q37. Which of the following is NOT a type of Operating System? 
 

A. Android B. Windows 

C. Kernel D. MAC 

Q37. -0म⹍0 /O @O �L0@? ऑ+1O-��� -@}�/ �? ��?1 0AK AP? 
 

A. 
?्䵑I�! B. ==m!K� 

C. �0ेल D. MAC (/P�) 

 

Q38. Which of the following is an Output device? 
 

A. Joystick B. Printer 

C. Scanner D. Light Pen 

Q38. -0म⹍0 /O @O �L0@? ���+J� -!=?�@ AP? 
 

A. �L0�}�� B. =���1 

C. }�P 01 D. ल?�� +O0 

 

Q39. From the following option, choose the disadvantage of internet. 
 

A. Spamming B. Banking 

C. Cloud computing D. Knowledge and Learning 

Q39. -0म⹍0 /O @O �m�10O� �? �-?�K ल?? �J0O| 
 

A. }+P//�� B. -P�m�m� 

C. ]ल?�! �्䵘M0I}��� D. _?0 �1 />�? 
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Q40. Find the odd one out. 
 

A. HMR B. MRW 

C. AFK D. GLO 

Q40. 
@��? -??ए? 
 

A. HMR B. MRW 

C. AFK D. GLO 

 

Q41. Fill the blank in the series below: 
CST : CTU :: JQA: ________ . 

 

A. JRB B. JRC 

C. KRB D. JQB 

Q41. -0म⹍0 >L��ल? �O  र1ि }-?0K �ी +K?I �1O: 
CST : CTU :: JQA: ________ 

 

A. JRB B. JRC 

C. KRB D. JQB 

 

Q42. Fill the blank in the series given below: 
 
28, 26, 22, 20, 16,_______. 

 

A. 12 B. 10 

C. 15 D. 14 

Q42. -0म⹍0 >L��ल? �O  र1ि }-?0K �ी +K?I �1O: 
 
28, 26, 22, 20, 16,_______. 

 

A. 12 B. 10 

C. 15 D. 14 
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Q43. If AENP is coded as 151416, then how will GIKX be coded? 
 

A. 791123 B. 791124 

C. 791126 D. 791112 

Q43. 0-. AENP �? �K! 151416 AP, ?K GIKX �? �K! ]0? AK�?? 
 

A. 791123 B. 791124 

C. 791126 D. 791112 

 

Q44. If a-b=3 and ab=8, find (a+b)2. 
 

A. 40 B. 41 

C. 42 D. 43 

Q44. 0-. a-b=3 �1 ab=8, ?K -??�ए (a+b)2. 
 

A. 40 B. 41 

C. 42 D. 43 

 

Q45. A bookseller sold 240 copies of a book at a profit of 20%. If the cost price of all the books 
is Rs.12000, what is the selling price of all the books? 

 

A. Rs.14400 B. Rs.16800 

C. Rs.15600 D. Rs.18000 

Q45. ए� -�??- -O�0O=?लO 0O ए� -�??- �ी 240 �?-+0?? 20% ल?. /O -O�I| 0-. @.I -�??-K �? ल?�? /Kल㉍0 0-. Rs.12000 AP, 
?K @.I -�??-K �? -I्䵅ी /Kल㉍0 ]0? AP? 

 

A. Rs.14400 B. Rs.16800 

C. Rs.15600 D. Rs.18000 

 

Q46. Calculate [(20% of 150) +(10% of 70)]. 
 

A. 36 B. 37 

C. 38 D. 39 
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Q46. �-+? �1O [(20% of 150) +(10% of 70)]. 
 

A. 36 B. 37 

C. 38 D. 39 

 

Q47. The ratio of two numbers is 7 : 4 and their sum is 440. The smaller of the two numbers is 
____ . 

 

A. 150 B. 155 

C. 160 D. 165 

Q47. .K @�_0?� � �? 
0J+?? 7 : 4 AP �1 �0�? 0K� 440 AP| .K @�_0?� � /O @O �K�I @�_0? AP ______| 
 

A. 150 B. 155 

C. 160 D. 165 

 

Q48. If a body is at rest or moving at a constant speed in a straight line, it will remain at rest or 
keep moving in a straight line at constant speed unless it is acted upon by a force. 
The above postulate refers to ____________ 

 

A. Newton's second law B. Newton's first law 

C. Law of Gravity D. Newton's Third law 

Q48. 0-. �K� �I� -}-1 AP 0? @I/I ल?�0 /O ल�???1 =O� @O �? 1AI AP, ?K �@+1 -ल �? �0K� AK0O?� 0A -}-1 1AO�I 0? @I/I ल?�0 /O 
ल�???1 =O� @O �??I 1AO�I| 
�+1Kि -@o?�? ______________ @�.-.भ? �1?? AP| 

 

A. m0�ू0 �? .@ू1? )00/ B. m0�ू0 �? +Aल? )00/ 

C. �I1त⑍=?�?=+ �? )00/ D. m0�ू0 �? ),@1? )00/ 

 

Q49. Which one of the following is an example of Non-Metals? 
 

A. Aluminum B. Mercury 

C. Graphite D. Tin 
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Q49. -0म⹍0 /O @O �L0@? �P1 /??J �? �.?A1+ AP 
 

A. 
ल㉍0I//)00/ B. /]0I=1I 

C. ्䵇?,?�� D. }�0 

 

Q50. The membrane bound sacs which are filled with digestive enzymes is _______. 
 

A. Lysosomes B. Mitochondria 

C. Vacuoles D. Plastids 

Q50. _____________ !?0�O-}�= ए0�?�म⹍@ (+?�� 1@) @O .1O Aुए /Oम⹍9O0 -?�� ! @P]@ AK?O AP । 
 

A. ल?0@K@K्䵘@ B. /?��K�I�m्䵑0? 

C. =P]0I�ल㉍@ D. Mल?�}�ड⅍@ 

 

Q51. Which among the following accessories in a plane table surveying has a U-shaped metal 
frame with two different types of arms? 

 

A. Plumbing fork B. Compass 

C. Ranging Rod D. Alidade 

Q51. प⩍लO0 �O-ल @=O्䵌+ /O -0म⹍0-ल-�? @A?0�-�+�1+K /O @O �L0 @O @A?0�-�+�1+ /O 0K-��?1 /??J �O  �O / /O .K -=-.m0 ��?1 �ी 
.J�?ए� AK?I AP? 

 

A. Mल�्䵘-�� ,K�=  B. �्䵘+?@ 

C. 1े䜂���� 1I! D. एलI!O! 
 

Q52. Which method in the Plane table surveying allows the whole surveying process from one 
station only? 

 

A. Intersection method B. Radiation method 

C. Resection method D. Traversing method 

Q52. प⩍लO0 �O-ल @=O्䵌+ �ी -�@ -=-/ /O +K1I @=O्䵌+ �-्䵅0? �O =ल ए� AI }-?0 @O @�+m0 AK?I AP? 
 

A. �),चᩍ�O. ==�/ B. ==��1+ ==�/ 

C. �चᩍ�O.0 ==�/ D. ��्䵅/+ ==�/ 
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Q53. Which method in a Three-point problem is also known as a "Tracing Paper method"? 
 

A. Mechanical Method B. Graphical Method 

C. Trial and Error Method D. Lehmann Method 

Q53. "्䵕I-+Q��� �Qबⱍल/" /O -�@ -=-/ �K <रO-@�� +O+1 -=-/= �O  0?/ @O .I �?0? �??? AP? 
 

A. /P�O )0�ल ==�/ B. ्䵇?�,�ल ==�/ 

C. ्䵏?0ल ए�! ए11 ==�/ D. लOA/P0 ==�/ 

 

Q54. Which method in Plane table surveying is widely used to plot the details on the maps? 
 

A. Intersection method B. Radiation method 

C. Resection method D. Traversing method 

Q54. प⩍लO0 �O-ल @=O्䵌+ /O -�@ -=-/ �? �+0K� 0]>O /O -==1+ �}?J? �10O �O  -लए }0?+� z+ @O -�0? �??? AP? 
 

A. �),चᩍ�O. ==�/ B. ==��1+ ==�/ 

C. �चᩍ�O.0 ==�/ D. ��्䵅/+ ==�/ 

 

Q55. What will be the difference between the fore and back bearings when there is no influence 
of local attraction? 

 

A. 90 degree B. 45 degree 

C. 180 degree D. 360 degree 

Q55. 'लK�ल 
रP]>0' �O  
�.?=I AK0O +1 ��O �1 +I�O �O  -I0र1�� �O  -I� �? 
�?1 ]0? AK�?? 
 

A. 90 )!्䵇I B. 45 )!्䵇I 

C. 180 )!्䵇I D. 360 )!्䵇I 
 

Q56. Which among the following is NOT a correct description about Surveyor compass? 
 

A. No Prism at a viewing end B. Graduation present in a quadratic system 

C. Magnetic needle works as an index while 

reading 

D. Sighting and viewing can be done 

simultaneously 
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Q56. @=O01 �म⹍+?@ �O  @�-�/ /O -0म⹍0-ल-�? /O @O �L0 �L0 @? -==1+ @m0 0AK AP? 
 

A. }0�ू�� �K1 +1 �K� =�जᱍ/ 0AI� AK,? B. द♍== ?, �+?लI /े䜂 ्䵇O�Iए>0 /L�.ू AK,? AP 

C. �I�-�I0 @I� + ?0 �O  @/0 ए� @�ू�?�� �O  रあ+ /े䜂 �?/ 

�1,I AP 
D. @?�}��� �1 }0�ू�� ए� @?- AK @�,I AP 

 

Q57. When does the dip of the magnetic needle will be zero? 
 

A. At North pole B. At South pole 

C. At equator D. Value of dip will not be zero at any point 

Q57. �J�-�ी0 @J� �ी -!+ -�@ -}--? /O >Km0 AK�I? 
 

A. �्䵈1I �I= +1 B. .्䵌�+ �I= +1 

C. .ू/o0 1O�? +1 D. ��@I .I --�.I +1 )!+ �? /लू㉍0 >mू0 0AI� AK�? 
 

Q58. When do the Proportionate method is to be used to adjust the traverse graphically to 
correct the error occurred in Compass surveying? 

 

A. When angular measurements are more precise 

than the linear measurements 

B. When angular and linear measurements are 

equally precise 

C. When angular and linear measurements are not 

precise than the estimated measurements 

D. When linear measurements are more precise 

than the angular measurements 

Q58. �म⹍+?@ @=O्䵌+ /O Aु� ्䵔J-� �K �K @J/?10O �O  -लए, <�+K@भ0O� /O-!= �? �+0K� .Kल� �K ्䵇?-,�लI @/?0K-�? �10O �O  -लए �- 

-�0? �??? AP? 
 

A. �- �K+I0 /?+ 1P��� /?+ @O 
�/� @�I� AK,O Aै䠂 B. �- �K+I0 �1 1P��� /?+ ए� @/?0 रあ+ @O @�I� AK,O Aै䠂 

C. �- �K+I0 �1 1P��� /?+ 
0I/?)0, /?+ �I ,Iल0? /े䜂 
@�I� 0AI� AK,O Aै䠂 

D. �- 1P��� /?+ �K+I0 /?+ @O 
�/� @�I� AK,O Aै䠂 

 

Q59. Which part of the theodolite survey is also known as "Vernier plate"? 
 

A. Upper plate B. Vertical circle 

C. Index Frame D. Lower plate 
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Q59. --0K!Kल?�� @=O्䵌+ �O  -�@ .?� �K "=-0भ01 प⩍लO�" �O  0?/ @O .I �?0? �??? AP? 
 

A. �+1 �I MलO� B. ल�-=, =्ृ䵈 

C. ��!O]@ ቸ硬O / D. )0�लI MलO� 
 

Q60. Where does the lower tribratch in the leveling head is attached? 
 

A. Upper clamping screw B. Plumb bob 

C. Tripod stand D. Tangent screw 

Q60. -0�लO र?�9P� लO=-ल�� AO! /O �A?? +1 @�ल_0 AK?? AP? 
 

A. �+1I -�/0 +े䜂� B. Mल�- -I- 

C. ्䵏?�+K! }�ै䠂! D. }+जᱍ0? +े䜂� 

 

Q61. Turning the telescope about its vertical axis in the horizontal plane is _________ . 
 

A. Swinging the telescope B. Transiting 

C. Centering telescope D. Line of collimation 

Q61. .K1-I0 �K -�@I ्䵌P-?� @?A /O �@�O  ��=?भ/1 
्䵌 +1 /K]0O �ी -्䵅0? �K ____________�A?O AP? 
 

A. .1ू-I0 �K  I/?0? B. +?1�/0 

C. .1ू-I0 �O �m�, �10? D. @/?m,1+ �I 1O�? 
 

Q62. What should be verified during Horizontal Axis Adjustment in Permanent adjustments of 
a theodolite? 

 

A. Vertical Axis should be inclined to 120 degree 

to the horizontal axis 

B. Horizontal Axis must be perpendicular to the 

vertical axis 

C. Horizontal Axis must be the parallel to the 

vertical axis 

D. Vertical Axis should be inclined to 60 degree to 

the horizontal axis 
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Q62. --0K!Kल?�� �O  }-?0I @/?0K�0 /O ्䵌P-?� 
्䵌 @/?0K�0 �O  .L1?0 -�@�? @m0?+0 -�0? �?0? �?-Aए? 
 

A. �o=?=/1 
� �K �P),� 
� +1 120 )!्䵇I ,� �I�? AK0? 
�?}Aए 

B. �P),� 
� �o=?=/1 
� �O  ल�-=, AK0? �?}Aए 

C. �P),� 
� �o=?=/1 
� �O  @/?0?�,1 AK0? �?}Aए D. �o=?=/1 
� �K �P),� 
� +1 60 )!्䵇I ,� �I�? AK0? 
�?}Aए 

 

Q63. Select the type of instrument that integrates the functions of T-square, set squares, scales, 
clinograph and Protractor. 

 

A. Mini-Drafter B. Compass 

C. Divider D. French curves 

Q63. �@ �+�1+ �? �00 �1O �K �I-}]=?01, @O� }]=?01, }�O ल, -]ल0K्䵇?, �1 �KरP]�1 �O  �?0K �K ए�ी�L ? �1?? AP। 
 

A. //0I-्䵑?o�1 B. �्䵘+?@ 

C. )!=?�!1 D. �े䜂 � �}@= 
 

Q64. Which type of instrument helps to draw irregular lines or shapes that cannot be drawn with 
the compass? 

 

A. Set-squares B. French Curves 

C. Mini-Drafter D. Clinograph 

Q64. �L0 @? �+�1+ 
-00-/? 1O�?� � 
-=? ��L -?0K �K -0?0O /O /.. �1?? AP -�mAO �म⹍+?@ �ी @A?0?? @O 0AK -0?0? �? @�?? Aै䠂? 
 

A. @O� }]=?01 B. �े䜂 � �}@= 

C. //0I-्䵑?o�1 D. �]ल0K्䵇?, 

 

Q65. Which of the given rules can be followed, when there is not enough space for placing 
arrows or numbers in a drawing sheet? 

 

A. It can be placed outside the extension lines. B. It can be placed inside the extension lines. 

C. It can be placed on the extension lines. D. It can be omitted. 
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Q65. �- ए� ्䵑?��� >I� /O ?I1K 
-=? @�_0?� � �K -0?0O �ी +0?भ्䵎 ��A 0 AK ?K -.ए �ए -00/K @O -�@ -00/ �? �+0K� -�0? �? @�?? 
AP? 

 

A. �@O ==},1+ ल?�0ो䬂 �O  -?A1 1�? �? @�,? AP। B. �@O ==},1+ ल?�0ो䬂 �O  
�.1 1�? �? @�,? AP। 

C. �@O ==},1+ ल?�0ो䬂 +1 1�? �? @�,? AP। D. �@O लK=+, ��0? �? @�,? AP। 
 

Q66. Choose the right symbolic line type that can be used for drawing dimensions lines and for 
the imaginary intersection of surfaces? 

 

A. Continuous thick B. Continuous thin 

C. Dashed thick D. Dashed thin 

Q66. @AI �?I�?m/� 1O�? �O  ��?1 �K �J-0ए, -�@�? �+0K� @?AK /O -=}?1+ ल?�0K �1 �?ल㉍+-0� �-?चᩍ�O.0 �O  1O�?��0 �O  -लए -�0? 
�? @�?? AP? 

 

A. ल�?,?1 /K�I B. ल�?,?1 +,लI 

C. !P/>, /K�I D. !P/>, +,लI 
 

Q67. Choose the command that helps you to draw a Circle in AutoCAD. 
 

A. L B. CL 

C. C D. PL 

Q67. �@ �/?�! �K �J0O �K ऑ�K�P ! /O ए� @�भ ल -0?0O /O /.. �1?I AP। 
 

A. L B. CL 

C. C D. PL 

 

Q68. Select the key feature in AutoCAD that helps to lock cursor movement either in horizontal 
or vertical direction. 

 

A. Ortho B. Polar Tracking 

C. Isoplane D. Dynamic Input 
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Q68. ऑ�K�P ! �ी �/J� -=>O??? �? �00 �1O �K �@भ1 �ी �-? �K ्䵌P-?� 0? ��=?भ/1 -.>? /O लQ� �10O /O /.. �1?? AP। 
 

A. ऑ-ो B. +Kल1 ्䵏P��� � 

C. ��@KMलO0 D. !?00?//� �0+I� 
 

Q69. Select the Function key that is used to activate or deactivate Dynamic UCS. 
 

A. F4 B. F5 

C. F6 D. F7 

Q69. �@ +� ]>0 �ी �? �00 �1O �K !?00-/� UCS �K @-्䵅0 0? -0-�्䵅0 �10O �O  -लए �+0K� -�0? �??? AP। 
 

A. F4 B. F5 

C. F6 D. F7 

 

Q70. Choose the keyboard shortcut that can be used in AutoCAD to save a drawing as a new 
file. 

 

A. Ctrl+Shift+S B. Ctrl+S 

C. Ctrl+N D. Ctrl+Shift+Q 

Q70. ऑ�K�P ! /O �@ �ी-K!भ >Q�भ�� �K �J0O -�@�? �+0K� -�@I ्䵑?��� �K ए� 0� +?�ल �O  z+ /O @O= �10O �O  -लए, -�0? �??? AP। 
 

A. Ctrl+Shift+S B. Ctrl+S 

C. Ctrl+N D. Ctrl+Shift+Q 

 

Q71. Which surveying method uses the principle of dividing the given area into many number 
of triangles? 

 

A. Compass Surveying B. Chain Surveying 

C. Land Surveying D. Topographic Surveying 

Q71. -�@ @=O्䵌+ +o-? /O -.ए �ए ्䵌O्䵔 �K �� -्䵔.J�K /O -=.?-�? �10O �O  -@o?�? �? �+0K� -�0? �??? AP? 
 

A. �्䵘+?@ @=े�+ B. �P0 @=े�+ 

C. ./ू/ @=े�+ D. }-ल?�ृ),� @=े�+ 
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Q72. Which of the given options joins two fixed points on the main survey line? 
 

A. Offsets B. Tie Line 

C. Base Line D. Check Line 

Q72. -.ए �ए -=�ल㉍+K /O @O �L0 @? -=�ल㉍+ /J_0 @=O्䵌+ ल?�0 +1 .K -0-ि? --�.J� � �K �K]?? AP? 
 

A. ऑ,@O� B. �?� ल?�0 

C. -O@ ल?�0 D. �O� ल?�0 

 

Q73. Select the chain survey step in which an Index Sketch is prepared? 
 

A. Reconnaissance B. Marking stations 

C. Reference sketches D. Running survey line 

Q73. �P0 @=O �O  �@ �1+ �? �J0?= �1O -�@/O ए� ��!O]@ }�O � ?P0?1 -�0? �??? AP? 
 

A. �=I�+ B. }�O>0ो䬂 �K ���)0, �10? 

C. 1O,O 1े䜂@ }�O �O@ D. 1)0�� @=े ल?�0 

 

Q74. Choose the option that is NOT associated with the purpose of Check Line used in Chain 
surveying. 

 

A. It is also called as Proof Line. B. It is used to check the accuracy of the 

framework. 

C. It joins the apex of a triangle to some fixed 

points on any two sides of a triangle. 

D. It joins the apex of a triangle to some fixed 

points on only one side of a triangle. 

Q74. �@ -=�ल㉍+ �? �J0?= �1O �K �P0 @=O्䵌+ /O �0Jि �O� ल?�0 �O  �oO�0 @O @�-o 0AK AP। 
 

A. �@O �,ू ल?�0 .I �A? �?,? AP। B. �@�? �+0K� �O /=�=  �I @�I�,? �I �?�� �10O �O  /लए 

��0? �?,? AP। 

C. 0A -}.I� �O  >I?= �K -}.I� �O  ��mAI .K +�ो䬂 +1 �I � 

)0���, --�.I�� �O  @?- �K],? AP। 
D. 0A -}.I� �O  >I?= �K -}.I� �O  ए� +� +1 �I � )0���, 

--�.I�� �O  @?- �K],? AP। 
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Q75. Which type of Direct leveling is used when there are no obstacles in the field, and points 
are nearer to each other? 

 

A. Simple leveling B. Differential leveling 

C. Fly leveling D. Profile leveling 

Q75. -�@ ��?1 �ी 8!?01O]� लO=-ल��9 �? �+0K� ?- -�0? �??? AP �- ्䵌O्䵔 /O �K� -?/?ए� 0AK AK?I, �1 --�.J ए� .K@1O �O  �1I- AK?O Aै䠂? 
 

A. /@�+ल लO=/ल�� B. )!,1े䜂/>0ल लO=/ल�� 

C. oल?� लO=/ल�� D. �Kफ?�ल लO=/ल�� 

 

Q76. Which type of leveling staff has a staff of 3 pieces with the upper one solid and lower two 
hollows? 

 

A. Folding staff B. Telescopic staff 

C. Target staff D. Solid staff 

Q76. -�@ ��?1 �O  लO=-ल�� }�?, /O, ?I0 �J�]O �? }�?, AK?? AP -�@�? �+1I �J�]?  K@ �1 -0�लO .K �J�]O �K�लO AK?O AP? 
 

A. ,K�ल㉍!�� }�?, B. �OलI}�K=+� }�?, 

C. �?1�O� }�?, D. @I/ल! }�?, 

 

Q77. Which among the following level is the combination of dumpy level and Y-level? 
 

A. Automatic level B. Tilting level 

C. Cooke's Reversible level D. Cushing's level 

Q77. -0म⹍0 लO=ल /O @O �L0 @? !म⹍+I लO=ल �1 Y- लO=ल �? @�0K�0 AP? 
 

A. ��K/O}�� लO=ल B. }��ल㉍��� लO=ल 

C. �ू� �? 91=@े-ल लO=ल D. �I />��@ �? लO=ल 

 

Q78. When does the eyepiece lens in the telescope of leveling is called as "Erecting 
Eyepieces"? 

 

A. When eyepieces show the magnified image B. When eyepieces doesn't show any image 

C. When eyepieces show the inverted image D. When eyepieces erect the image into a normal 

view 
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Q78. लO=-ल�� �O-ल}�K+ /O ��+I@@ लO@ �K "�1O-]��� ��+I@@ " �- �A? �??? AP? 
 

A. �- ��+I@@ �=�/=, �== }.�?,O Aै䠂 B. �- ��+I@@ 0O �K� �== 0AI� }.�?,O 

C. �- ��+I@@ �ल�I �== }.�?,O Aै䠂 D. �- ��+I@@ �== �K ए� @?/?m0 द♃�0 /े䜂 �1O]� �1,O Aै䠂 
 

Q79. Where should be the anallatic lens be placed to eliminate the additive constant in the 
surveying process? 

 

A. Fitted between the eyepiece of the telescope 

and object lens 

B. Fitted in the internal focussing 

C. Fitted in the eyepiece of the telescope D. Fitted with the object lens 

Q79. @=O्䵌+ �-्䵅0? /O 0K�?m/� -}-1?�� �K @/?्䵎 �10O �O  -लए ए0?लP-�� लO@ �K �A?� 1�? �?0? �?-Aए? 
 

A. �OलI}�K+ �1 ऑm�O]� ले䜂@ �O  ��+I@@ �O  -I� �,� ��0? 
�?0? �?}Aए 

B. ��,91� फK�/@�� /े䜂 �,� ��0? �?0? �?}Aए 

C. �O/ल}�K+ �I ��+I@@ /े䜂 �,� ��0? �?0? �?}Aए D. ऑm�O]� ले䜂@ �O  @?- �,� ��0? �?0? �?}Aए 

 

Q80. Which among the following setup in a tachometer is called as "Stadia hairs"? 
 

A. The telescope equipped with one central hair B. The telescope equipped with two horizontal 

hairs 

C. The telescope equipped with two vertical hairs D. The telescope equipped with one central hair 

and one horizontal hair 

Q80. �P�K/I�1 /O -0म⹍0-ल-�? @O�
+ /O @O -�@O "}�P-!0? AO0@भ" �A? �??? AP? 
 

A. ए� @े䜂्䵏ल AO01 @O @I@�जᱍ�, .1ू-I0 B. .K �P),� AO01 @O @I@�जᱍ�, .1ू-I0 

C. .K �o=?=/1 AO0@= @O @I@�जᱍ�, .1ू-I0 D. ए� @े䜂्䵏ल AO01 �1 ए� �P),� AO01 @O @I@�जᱍ�, .1ू-I0 

 

Q81. In which method of Tacheometry, the stadia hair can be moved by using a micrometer 
screw? 

 

A. Fixed Hair method B. Tangential method 

C. Movable Hair method D. Subtense method 
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Q81. �P�I/OरI �ी -�@ -=-/ /O, /?�्䵅K/I�1 }्䵅K  �? �+0K� �1�O  <}�P-!0? AO0@भ= �K -�@�?0? �? @�?? AP? 
 

A. �,]}! AO01 /O-! B. �Pm�े䜂/>0ल /O-! 

C. /=ूO-ल AO01 /O-! D. @-�े䜂@ /O-! 
 

Q82. Which type of road can be provided when there is a good quantity of limestone available? 
 

A. Murrum roads B. Earthen roads 

C. Kankar roads D. Gravel roads 

Q82. �K0? +m-1 �ी 
चᩍ�I /?्䵔? �+लबⱍ/ AK0O +1 -�@ ��?1 �ी @]� -0?� �? @�?I AP? 
 

A. /I1=/ �I @]�े䜂  B. //टὍ�I �I @]�े䜂  

C. �� �1 �I @]�े䜂  D. -�1I �I @]�े䜂  
 

Q83. Which curve is defined as a curve of a variable radius? 
 

A. Simple circular curve B. Reverse curve 

C. Compound curve D. Transition curve 

Q83. -�@ =्䵅 �K ए� �1 -्䵔जᱍ0? �O  =्䵅 �O  z+ /O +र1.?-?? -�0? �??? AP? 
 

A. @?/?1+ �Kल?�?1 =्䵅 B. �त⑍्䵅/ =्䵅 

C. 0L��� =्䵅 D. @�्䵅/+ =्䵅 

 

Q84. Which terminology in simple curve refer to point of curvature and is the beginning of the 
curve? 

 

A. PC B. PT 

C. PI D. PF 

Q84. @1ल =्䵅 /O �L0 @I >बⱍ.?=लI =्䵅?? �O  --�.J �K .>?भ?I AP ?-? =्䵅 �ी >Jy�? AK?I AP? 
 

A. PC B. PT 

C. PI D. PF 
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Q85. Which of the following is not a type of buttress dam? 
 

A. Rigid B. Articulate 

C. Variable radius D. Intermediate 

Q85. -0म⹍0-ल-�? /O @O �L0 @? ए� ��?1 �? -र@ !P/ 0AK AP? 
 

A. 91��! B. �}�=�I लO� 

C. =O91ए-ल 1O)!0@ D. ���1/I)!ए� 
 

Q86. Which of the following is NOT a flow irrigation method? 
 

A. Perennial irrigation B. Well irrigation 

C. Storage irrigation D. Flood irrigation 

Q86. -0म⹍0-ल-�? /O @O �L0 @I ए� �=?A -@��?� -=-/ 0AK AP? 
 

A. ��1}-?0I /@��?� B. 0ल�ू+ /@��?� 

C. .�!?1+ /@��?� D. -?? /@��?� 
 

Q87. The Dicken's formulae for estimating the flood discharge is ________________. 
 

A. Q = CA3/4 B. Q = CA1/2 

C. Q = CA2/3 D. Q = CA5/6 

Q87. -?? -0}@1+ �? 
0J/?0 ल�?0O �O  -लए -!�O @ �? @K्䵔 ________________ AP। 
 

A. Q = CA3/4 B. Q = CA1/2 

C. Q = CA2/3 D. Q = CA5/6 

 

Q88. As per the National Building Code of India, what types of buildings are classified based 
on occupancy in Group D ? 

 

A. Residential buildings B. Educational buildings 

C. Business buildings D. Assembly buildings 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 01, Surveyor Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 22, 2020  Page 26 of 26 

 

Q88. .?1?I0 1?�रI0 .=0 @�-A?? �O  
0J@?1, ्䵇J+ !I /O 
-/.K� �O  �/?1 +1 -�@ ��?1 �O  .=0K �K =�I�L ? -�0? �??? AP? 
 

A. �=?@I0 .=0 B. >P��+� .=0 

C. }0?=@?)0� .=0 D. 
@े䜂-लI .=0 

 

Q89. Which of the following components of the building enables to transmit the dead loads, live 
loads, and other loads to the subsoil? 

 

A. Masonry units B. Floor structures 

C. Foundations D. Stairs, lifts, ramps etc 

Q89. .=0 �O  -0म⹍0-ल-�?  ��K /O @O �L0 @? /L? .?1, �I-=? .?1 �1 
m0 .?1 �K 
/K.K-/ /O A}??�?र1? �10O /O @्䵌/ -0??? AP? 
 

A. ��0?� ��?�0?? B. ,>= �I @�1�0?ए? 

C. 0I�= D. @I}?0??, /लo�, 1ै䠂+ �त⑍0?}. 
 

Q90. The structure provided at the bottom of an entrance door is ______ . 
 

A. Jamb B. Mullion 

C. Threshold D. Reveal 

Q90. �=O> ्䵛?1 �O  0I�O -0?� �� @�1�0? ______ �K �A?O AP। 
 

A. �?्䵘- B. /I/ल00 

C. }O>Kल㉍! D. 1I=Iल 

 

www.mseducationtv.com


